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If A={h,j,s,f}and B ={k,q,c,d},
" which of the following is relation R:A-B?

(i) {(f,q).(s,c),(f,k),(f,d),(s,d)} (i) {(m,h),(n,f),(m,j).(n,s),(nj} (i) {(cs),(df),(q,f).(d,j)(cj}
(iv) {(c,n),(c,m),(q,n),(k,n),(k,m)} (v) {(f,m),(h,m),(j,m),(h,n),(s,n)}

If A-Bis defined by f(x)=(4x+4)and A ={7,5,1,3},
" find the range

(i) {16,6,8,24,10,32} (ii) {16,32,8} (iii) {16,28,-2,24} (iv) {32,24,16,7} (v) {32,24,8,16}

. Find the cardinality of the given relation

(i) 6 (ii) 10 (iii)) 8 (iv) 4 (v) 7

Find the domain and range of the given relation

" R:A-B=1{(3,7),(3,5),(1,7),(1,5),(5,7),(5,5)}

() A=4{3,15},B={75} (i) A={-3,12,-1} ,B ={12,9} (iii) A= {3,1,7},B ={5}
(iv) A={2,10,1,3},B ={4,2,5} (v) A={5,10,1} ,B ={13,5}

If A={rs,g,h}and B ={dk,c,a},
" which of the following is relation R:B—A?

(i) {(a.9).(p,h).(Lh),(1,9).(p,s)} (i) {(s,q).(h,p).(s,m),(r,q).(h,e)} (i) {(s,c).(s,k),(g,a)(rd)(g,d)}

(iv) {(d,g),(d,h),(k,r).(a,r).(a,s)} (v) {(k,e) (a,m)(k]l).(a,q)(km)}



If A={3,9,10,2}and B ={6,12,5,40,8,18,4,7},
" then the relation R:A-Bsuch thata € Ais a factor ofb € Bis

(i) {(3,6),(3,12),(3,18),(9,18),(10,40),(2,12),(2,40),(2,8),(2,18),(2,4)}

(ii) {(3,6),(3,12),(3,18),(9,18),(2,6),(2,12),(2,40),(2,8),(2,18),(2,4),(41,9) }

(iii) {(3,6),(3,12),(3,18),(9,18),(10,40),(2,6),(2,12),(2,40),(2,8),(2,18),(2,4),(18,9) }
(iv) {(3,6),(3,12),(3,18),(9,18),(10,40),(2,6),(2,12),(2,40),(2,8),(2,18),(2,4)}

(v) {(3,6),(3,12),(3,18),(10,40),(2,6),(2,12),(2,40),(2,8),(2,18),(2,4),(18,9)}

If A={4,8,10} and B ={81,100,25,64,49,16},
" then the relation R:A-B such thata € Ais the square root ofb € Bis

B

(i) {(4,16),(10,100)} (ii) {(4,16),(10,100),(64,8)} (iii) {(4,16),(8,64),(10,100)} (iv) {(4,16),(8,64),(101,9)}

(v) {(4,16),(8,64),(10,100),(64,8)}

8. Iff(t)=(2t2+7t+7)then find f(8x—1)

(i) (127x2+24x+2) (i) (130x2+24x+2) (iii) (128x2+24x+2) (iv) (129x%+24x+2)

(v) (125x%+24x+2)



9. Find the range of given relation diagram.
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() {3,1,5,7}% (i) {8,7,10,5} (iii) {5,3,1} (iv) {10,8,7} (v) {7,10}

Which of the following does not represent a function A-B,
" where A ={9,3,7,5}and B ={1,8,6,4}?
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(i) v (i) (i) mo(iv) 1

Let R—R be a function defined by given conditions
fix)=(2x+7)ifx<2
11. f(x)=(x+9)if2=x<6
f(x)=(5x+7)ifx>6
find f(x)where x =6

(i) 15 (ii) 14 (i) 37 (iv) 16 (v) 19

12. If n(A) = 3 and n(B) = 1 then the number of possible relations from A - B is

(i) 8 (i) 6 (iii)) 10 (iv) 5 (v) 7



If A={9,54,6,3}and B=¢{6,7,2,9,5,3},
" then the relation R:A-B such thata € Ais equal ofb € Bis

(i) {(9,9).(5,5).,(6,6),(3,3)} (i) {(9.9).(5,5),(6,6),(3,3),(7,7)} (iii) {(9,9).(5,5),(6,6),(3,3),(4,4)}
(iv) {(9,9),(5,5).(3,3)} (v) {(9,9).(5,5).(3,3).(7,5)}

Find the range of . Z—»Z where f(x)=(7x+4)
and domain of fis{x : -4 = x = 0}

(i) {-24,-17,-10,-3,5} (ii) {-24,-10,-3,4,-19} (iii) {-24,-17,-3,4,-11} (iv) {-24,-17,-10,-3,4}
(v) {-24,-17,-10,4,-1}

Write the relation R:A-Bin the given diagram,
" where A ={2,3,9,6}and B ={10,5,8}

(i) {(9,10),(3,5),(2,8),(2,5),(6,5),(5,3)} (ii) {(9,10),(3,5).,(2,5),(6,5),(9,1)} (iii) {(9,10),(2,8),(2,5),(6,5).(5,3)}

(iv) {(9,10),(3,5).,(2,8),(2,5),(6,5)} (v) {(9,10),(3,5),(2,5),(6,5)}

. Which of the following are true?

(i) {eb,a} (ii) {c.d,a} (i) {a,d} (iv) {c,d} (v) {b,a}



17. IfA={9,10}and B ={7,8,3,2}, findA X B

(i) {(9,7),(9,8),(9,3),(9,2),(10,7),(10,8),(10,3),(10,2),(3,9) }
(ii) {(9,7),(9,8),(9,2),(10,7),(10,8),(10,3),(10,2),(3,9)} (iii) {(9,7),(9,8),(9,3).,(9,2),(10,8),(10,3),(10,2)}

(iv) {(9,7),(9,8),(9,3),(9,2),(10,7),(10,8),(10,3),(10,2)} (v) {(9,7).(9,8),(9,3),(10,7),(10,8),(10,3),(10,2),(3,8) }

If f(x)=(4x—3)and g(x)=(8x2+9x—5),

18. f(1)+f(-2)+f(5)
find the value of
9(-2)+9(5)+g9(2)
(i) ! (ii) ! (iii) ! (iv) (_1) (v) !
! 44 ! 40 . 42 v 42 v 14

19. If ((8x+y+10),5) = (7,(7x+7y+5)) then find (x,y)

-1 3 .. .3 -3 , ;101 -3 3
-7),- ) (i) (Z,(Z)) (iv) ((5).5) (v) (=), 2)

(i) ((-3) -3) (i) ((
' 7 7 7 3 3 7 5

7 7

20 Which of the following does not represent a function A-B,
" where A ={5,1,2,8,7,10} and B ={9,3,4,6} ?

(i) {(5,4),(10,6),(2,4),(1,3),(8,3),(7,4)} (i) {(7,4).,(1,4),(10,3),(2,6),(10,6),(8,6)}
(iii) {(5,4),(1,9),(2,9),(10,9),(7,6),(8,3)} (iv) {(2,6).(1,3),(10,4),(7,3),(5,6),(8,3)}
(v) {(2,9).(8,6),(7,3),(10,3),(1,4),(5,9)}

Find the cardinality of the given roster form,

21 where R ={(8,9),(8,1),(8,4),(10,4),(5,4),(5,9),(10,9)}

(i) 8 (ii) 7 (iii) 6 (iv) 5 (v) 10

22. Iff(x)=(x+2), then find f(5)
(i) 8 (ii) 10 (iii) 4 (iv) 6 (v) 7

23. Which of the following statements are true if FA—-Banda € A,b € B?

fla)=b
b) f(b)=a
c) f(a)is called the image of aunder
d) f(b)is called the image of bunder f

a

)
)
)
)

(i) {b,c,a} (i) {b,d,a} (iii) {d,c} (iv) {b,a} (v) {ac}



24. Find the domain of the given relation.

(i) {6,4,9} (i) {8,2,3} (i) {3,8,10,2,7,6} (iv) {8,2,3,6} (v) {3,8,10,2,7}

25. Iff(x)=(4x+1)andg(y)=(y+3), thenfindf(9),g(6)
(iy 34,7 (i) 39,11 (iii) 37,9 (iv) 36,8 (v) 38,10



Assignment Key

1) (i) 2) (v) 3) (v) 4) (i) 5) (iv) 6) (iv)

7) (iii) 8) (iii) 9) (iv) 10) (iii) 11) (i) 12) (v)
13) (i) 14) (iv) 15) (iv) 16) (iii) 17) (iv) 18) (iii)
19) (i) 20) (ii) 21) (ii) 22) (v) 23) (v) 24) (ii)
25) (iii)
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